































<b>Background</b> A.J. Clark School of Engineering - Department of Civil and Environmental Engineering The Engineering Problem Solving $I = \int_{0}^{2} (e^{x^{2}} + \ln x) dx \approx \Delta x \sum_{i=1}^{n} f(x_{i}) = 18.18$						
	x <sub>i</sub>	f(x <sub>i</sub> )	$\Delta x$	A <sub>i</sub>		
	1.1	3.448795	0.1	0.344879		
	1.2	4.403017	0.1	0.440302		
	1.3	5.681845	0.1	0.568184		
	1.4	7.435799	0.1	0.74358		
	1.5	9.893201	0.1	0.98932		
	1.6	13.40582	0.1	1.340582		
	1.7	18.52394	0.1	1.852394		
	1.8	26.12151	0.1	2.612151		
	1.9	37.60791	0.1	3.760791		
	2	55.2913	0.1	5.52913		
	Sum = Area =			18.18131		
© Assakkaf ENCE 203 – CHAPTER 1a -INTRODUCTION Slide No. 16						

	Backg	round			
ALLEE INST.	A. J. Clark School of Eng Microsoft Excel = Boo Ele Edit View Insert	incering • Department of Civil	and Environmental Eng w Help	gineering	
		. 🌱 👗 🖻 🛍 ダ 🗠	• Σ f <sub>*</sub> 🕌	100% 🔻 🤦 🎇 Arial	• 10 •
	D12 -	= =+EXP(C12*2)+LN(C1	12)	<u> </u>	
	1 A B		E F	6 Н	I J
	2 2	2 ) 22			
	4 $I = e$	$x^* + \ln x \not\mid dx \approx \Delta x \sum f$	$\tilde{x}_i$		
	5 0	<i>i</i> =1			
	5				
	8				
	9	x <sub>i</sub> f(x <sub>i</sub> )	Δx A <sub>i</sub>		
	10	1.1 3.448795	0.1 0.344879		
	11	1.2 4.403017	0.1 0.440302		
	12	1.3 5.681845	0.1 0.568184		
	13	1.4 7.435799	0.1 0.74358		
	15	1.6 13 40582	0.1 0.30532		
	16	1.7 18.52394	0.1 1.852394		
	17	1.8 26.12151	0.1 2.612151		
	18	1.9 37.60791	0.1 3.760791		
	19	2 55.2913	0.1 5.52913		
	20	Sum = Area =	18.18131		
	ENCE 202 CHAPTE	D 1. INTRODUCTION			© Assakkaf





<b>Backgroun</b> A J Clark School of Engineering - Department Dependent variable $= f($	d nt of Civil and Environmental Engineering independent variable , parameters, functions				
Dependent variable =	A characteristic that usually reflects the behavior or state of the system				
Independent variables =	Are usually dimensions, such as time and space				
Parameters =	Are reflective of system's properties or compositions				
Forcing functions =	Are external influences acting on the system				
© Assakkaf ENCE 203 - CHAPTER 1a -INTRODUCTION Slide No. 20					















































Background     A J Clark School of Engineering - Department of Civil and Environmental Engineering     Comparison of Example 1 & 2						
		Analytical	Numerical			
	<i>t</i> (s)	<i>v</i> (m/s)	<i>v</i> (m/s)			
	0	0	0			
	2	16.4049808	19.6			
	4	27.76929146	32.00469897			
	6	35.64175156	39.8555437			
	8	41.09528323	44.82428683			
	10	44.87313757	47.96896861			
	12	47.49019095	49.95921508			
	∞	53.3904	53.3904			
ENCE 203 –	CHAPTER 1a -IN	TRODUCTION		© Assakkaf Slide No. 44		

